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We would like to be able to sketch quadratic relations without using technology. Consider the following quadratic

relation as we describe the transformations that would occur, and then determine the vertex and the step
pattern.
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y=2(x—-3)%2—4
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Vertex: (3’ - “3 Step Pattern: 9\0\ 3, S

The vertex form of a quadratic relation is given by:
(¢) y=a(x—h)*+k
Where: k tells you....
Ly Tha vuch UJ\ +rom s\ Jni,\,

L' —Vv u\u 6? ”\J'\’\ 04'\>
7 The 6 ¢ e Ueckey

h tells you... ‘ S ( k ) L \
L7 m kor\q,—omm “"Vunﬂwl'w,\,

L7 TLL q(—-ua\w; of Heo \)(Lr‘"(‘}

atells you...

Ly The She}d\/wmQMS‘u}\ Fador
@ L 18 M ganbola opuns A o |
L7 Tha 3\»0,? Vw\"rwv» ‘O\\?)O\\SO\




The Vertex Form of a Quadratic Relation , MPM2D N

In order to make a sketch of a quadratic relation in vertex form, you just need to follow two steps:

1) Write down the vertex, and then plotit.

2) Write down the step pattern, and use it to draw the rest of the graph.

Using your knowledge of transformations, gra

properties of each.

ph the following quadratic relations and describe the indicated

LRelation #l:y=(x-5)2-3 Graph
Vertex: ( 5\ - 3)
Axis of Symmetry: ¥ = S
Stretch Factor: Nowe ( o= \\
Direction of Opening:
Step Pattern: b 3 \ )
Al re.
Values “x” may take: rg \
Num vers
L\/alues “v" may take: \6 2=3
Graph:

t{elation #2: y==2(x+4)2-5

Vertex: ( -4 = 6‘3

Axis of Symmetry: X = -4

Stretch Factor: o_ = — l

Direction of Opening: \l/

Step Pattern: _ 7_‘ =il \ -10
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Values “x” may take:

Values “y” may take: \0 <~ S
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Using your knowledge of vertex form, graph the following quadratic relations.

1)

2(x+3)2 -1

Vertex: Q’ 3 /

y:

b)

(x-3)*-6

y::

a)

1)

2,6,10
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2(x-4* + O

dy

c)y=-(x+4)1+7

Vertex: (_— -, ’])
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————

e) y=2x2—5 = 1(%’07\1-5 f)

Vertex: ( 0 , “63
Step Pattern: ;2} ((,
- PO 1

y=3(x+1)*-9

Vertex: (— k= 9 )

Step Pattern: A5

>

]
. — I =110 ;T T
; Ndmn IR N
5, : t
| i %
] ( 3
A 'Y IO DU O A b o . - -

- _:i | -
- } s: = dd
wl 1 111 [ & i i 11
: i ] =
510,864 5.0 0L 7
} \‘ R Y 0
i H Z ¥
: :
i i ' i
i 4l
i {
- i T |
5 —H j
S ) y i i
! | i i g 3
e ; i : ;
3 ¥ H i 2 7
P ! i i i
R g i
‘ i j : :n ! -fkn { ¢ i
SR U O O 1 ¥e

k' A ' ;
g) y=-3x h) y=2(x—6)*-5 o

Vertex: C, O, Vertex:&) - 53

——

Step Pattern: —2, ~ = Tha VS Step Pattern: 2.,
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